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é ﬁ Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
9,129 x 10 = 8,132 x 1000 =
6,345 x 10 = 4,811 x 100 =
1,491 x 1000 = 5,286 % 1000 =
8,134 x 10 = 7,205 x 10 =
5,836 % 10 = 7,363 x 10 =
1,734 x 100 = 7,638 x 100 =
6,179 x 100 = 4,92 x 100 =
3,275 x 1000 = 3,46 x 10 =
3,04 x 100 = 5,088 x 10 =
4,226 x 10 = 8,53 x 1000 =
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é N é Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
9,129 x 10 =91.29 8,132 x 1000 = 8132
6,345 x 10 = 63.45 4,811 x 100 =481.1
1,491 x 1000 = 1491 5,286 x 1000 = 5286
8,134 x 10 = 81.34 7,205 x 10 = 72.05
5,836 x 10 = 58.36 7,363 x 10 = 73.63
1,734 x 100 =173.4 7,638 x 100 = 763.8
6,179 x 100 = 617.9 4,92 x 100 = 492
3,275 x 1000 = 3275 3,46 x 10 =34.6
3,04 x 100 = 304 5,088 x 10 = 50.88
4,226 x 10 =42.26 8,53 x 1000 = 8530
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